L6206EO SYNERGY I/F DR 760 BRT/SIL CLEAR UK L6367EO SYNERGY I/F DR 700 BRT/SIL CLEAR EU

L6207EO SYNERGY I/F DR 800 BRT/SIL CLEAR UK L6368BEO SYNERGY I/F DR 800 BRT/SIL CLEAR EU
L6208EO SYNERGY I/F DR 900 BRT/SIL CLEAR UK L6369EO SYNERGY I/F DR 900 BRT/SIL CLEAR EU
L6209EO SYNERGY I/F DR 1000 BRT/SIL CLEAR UK L6370EO SYNERGY I/F DR 1000 BRT/SIL CLEAR EU

SYNERGY UK INFOLD Instruction Number: 4843

SYNERGY EU INFOLD Instruction Number: 4884



shori
Stamp

shori
Text Box
SYNERGY UK INFOLD Instruction Number: 4843

shori
Text Box
SYNERGY EU INFOLD Instruction Number: 4884


X2
Components Fﬂw
Ref Wi
x8
Wall
Fixing
Pack
‘Wall Flug

X2 | e X1 K1 %1
d T
w2 w3 wa \
& x 16 x4
Eornina ) <]y
Mo x 35 MoJ& x &
Pan Head Pan Head

W%D

view from inside

Mouldin <
Pack ¢ @ ﬁ&f;} % =5 @ Nms
Grease Csk Scraw
Ref. Description Spares Part No. Ref. Description Spares Part No.
F1 Wall Profile LV802EO M1  Adjuster Top Cap LV854AA
F2  Cover Profile LV803EO M2  Wall Profile LH Top Cap LV855AA
F3  Frame/Door (new pack required) M3  Wall Profile RH Top Cap LV856AA
F4 Handle Assembly LV845AA M4 Lube Pack LVv84467
(includes all fixings required) M5  Handle Cover Cap LV860AA
X Handle Screw LV85867 M6 No0.8x18mm CSK Screw LV82267
X Handle Gasket LV85967
X  Handle Cover Cap Mldg LV8B860AA X Infold Cover Moulding LV837AA
X  Handle Spares Pack LV821AA
contains: (x2 screws, x4 gaskets, x2 cover caps)
F5 Infold Centre Seal LVv81567 X Infold Hinge Assembly LV838AA
W1 Wall Plug (not available separately) (includes all fixings required)
W2 No0.8x35mm Pan Hd Screw LV86567
W3  No0.8x8mm Pan Hd Screw LV86667 X Infold Pivot Assembly LH LV848AA
W4  Wall Profile Mldg LV867LJ (includes all fixings required)
X Wall Fixing Pack LV86167
contains: (x8 W1, x8 W2, x16 W3, x8 W4) X Infold Pivot Assembly RH LV849AA
X Infold Side Seal LV81467 (includes all fixings required)
X  Infold & Top Caps Mldg Pack LV823AA
contains:( x2 M1, x1 M2, x1 M3) X Infold Wheel Assembly LH LV850AA
(includes all fixings required)
X Infold Wheel Assembly RH LV851AA
(includes all fixings required)
X Infold Door Stop Assembly LV852AA

(includes all fixings required)



shori
Stamp

shori
Stamp

shori
Stamp

shori
Line

shori
Text Box
Ref.    Description                              Spares Part No.
 F1     Wall Profile                                     LV802EO
 F2     Cover Profile                                  LV803EO
 F3     Frame/Door                   (new pack required)
 F4     Handle Assembly                            LV845AA
  (includes all fixings required)
  x      Handle Screw                                  LV85867
  x      Handle Gasket                                 LV85967
  x      Handle Cover Cap Mldg                  LV860AA
  x      Handle Spares Pack                        LV821AA
  contains: (x2 screws, x4 gaskets, x2 cover caps)
 F5     Infold Centre Seal                           LV81567
 W1    Wall Plug             (not available separately)
 W2    No.8x35mm Pan Hd Screw            LV86567
 W3    No.8x8mm Pan Hd Screw              LV86667
 W4    Wall Profile Mldg                            LV867LJ
  x       Wall Fixing Pack                            LV86167
   contains: (x8 W1, x8 W2, x16 W3, x8 W4)
  x      Infold Side Seal                               LV81467
  x      Infold & Top Caps Mldg Pack          LV823AA
   contains:( x2 M1, x1 M2, x1 M3)

  
  
 

shori
Text Box
Ref.    Description                              Spares Part No.
 M1     Adjuster Top Cap                           LV854AA
 M2     Wall Profile LH Top Cap                LV855AA
 M3     Wall Profile RH Top Cap                LV856AA
 M4     Lube Pack                                       LV84467
 M5     Handle Cover Cap                          LV860AA
 M6     No.8x18mm CSK Screw                 LV82267

  x       Infold Cover Moulding                     LV837AA


  x       Infold Hinge Assembly                    LV838AA
   (includes all fixings required)

  x       Infold Pivot Assembly LH                LV848AA
   (includes all fixings required)

  x       Infold Pivot Assembly RH                LV849AA
   (includes all fixings required)

  x       Infold Wheel Assembly LH               LV850AA
   (includes all fixings required)

  x       Infold Wheel Assembly RH              LV851AA
   (includes all fixings required)

  x       Infold Door Stop Assembly              LV852AA
   (includes all fixings required)

  
  
 

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Stamp

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Line




